Angle Relationships Notes Day 2 K@j

Quadratics Warm-Up.

~ Directions: Solve through factoring.
1.0 =8x%—6x—9. 2.0=7x%+22x+3.

(x-n)(xre)=o

( ¥ "—3—\-\()('#' ;S‘S:D
(ax -3 4x+3)=0

(x :-l,S\or Xz - 19

Angle Warm-up: i >
- . Find the measure of the following angles. S
1. m<CBE = LO 2. m<HBD= |32 -35=97
3. m<aBI = 18010l =19° 4. m<ABC = __|§0O°
5. m<FBA = _| §O-104 ="l 6. m<DBI=_|lg|~35°= 120"
Angle Addition Examples:
1. £EFH is adjacent to ZHFG.4EFH = x°, £HFG = x + 20 andZEFG = 110° . Find x,
m«EFH and mzHFG. Draw the figure 1st.
Geometry: Justify: “f,
L FH 4 <HF G =LEFG, angle aololction,
E - X +Xt20 =110 5 Subshthot
* r+7 Ax+ 20 =10
¥+20 2X =9




2. BA and BC are opposite rays,which means __© 7 . BF bisects <CBE and

BD bisects <ABE. Justify your steps. . .
. What does it mean to bisect an angle? Cut £ W0 2 = L%

If m < EBF = 6x + 4 and m < CBF = 7x — 2, find m < EBC.

£ EBF = 208F def of £
(o x +"J = x-2 Disectol

4 = x-2
o= x\
<EBF +<CRF= < ERC. 0ngle addition
Y+ +1(L) -2 =<ERC.
( €3° = <ERC.)
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L 3.Ifz1= (x —4)? and 43 = 9°, find the possible value(s) of x, 21, and 2£2. Note: This figure is
not drawn to scale.
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4.1f £1 = x? + 2x and 42 = 4x + 140, find the possible value(s) of x, 23, and «4. Note: This
figure is not drawn to scale.

Geo: Susiviy 23 =4 () +140 =15t

Z\1\+4Q=1%D \if\tor?ov:rs ad +ISte = 1§O \jts(.
XEFLX +4x +14D=1gp O SUPRY

X=-10
xt by +1402 150 <\l= (<10 * + 2(-10)= SO°
X*+wbXx-4H4D=0

L Q=4 o) ti4o = (1007
X =4 ) x+P) = o | 8D+ 100 =180 yes'
X =4 h)(:-lC‘JJ | - -

)

L4z \/zrhc%.fs One =

< 4= 150" o (24= 100

5. £JKM is adjacent to ZMKL. 2JKL is a right angle and 2£MKL = 55°. Find m«JKM. Draw the
figure 1st.

() <3IKL=90" defof Rigt<
) LIKM+L MKL= LT KL onglf a ol
? 1 <IKMt S5 =90
~

~
K;.L/ 5‘%, <TKM = 3"




